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1| BAXE BT EER Y BEAFER RL B F A 31.2 50. 6 81.8 =
2 | AFE Gl ERYEAFER R L F A 26. 4 54.1 80. 5 =
3| BRARR B EERYBEAFER R L F A 28. 4 50. 8 79. 2 =
4 | Xl g BT EER Y BEAFER R ELFHOA 31.2 47.9 79.1 =
5 | BRAER AR ARFER R L F A 26.0 51.7 7.7 =
6 | 1T Bl EER Y EARFER R BT HOA 25.2 48.7 73.9 =
T FEA AR EAFR RL R L F A 28. 4 44.9 73.3 Z
8 | TE= Bl EERYBEAFER R ELFHOA 22.8 50. 0 72.8 =
9 | FHEL BT EER Y BEAFER BB FHOA 28.0 43.5 71.5 =
10 |k ek Bl EEREBEAFER KL ELFHOA 22. 4 48. 4 70.8 =
11| BEE BT EER Y BEAFER RL R L F A 27.2 43.0 70. 2 =
12 | BREA BT EEREEAFR R L F A 21.2 48.9 70. 1 =
13 | &k BT EERYEARAFER RL A L F A 22. 4 47.0 69. 4 =
14 | #5i#rss BT EEREBEAFR R L F A 24.8 44.3 69. 1 =
15 | Bt BT EER Y BEAFER RLJA F A 23.2 45.0 68. 2 =
16 | FRE K BT EER Y BEAFER R BT B 26. 4 41.5 67.9 =
17| #EA BT EER Y BEAFER KL ELFHOA 27.6 40. 1 67.17 =
18 | HFx Bl EERYBEAFER KL ELFHOA 25.2 42. 4 67.6 =
19 | FEZE BT EEREBEAFER R L F A 21.6 45.6 67.2 =
20 | RAEE BT EERYBEAFER R EL A 21.6 43.7 65. 3 =
21 | EXW BT EEREBEARFER KL ELFHOA 22.0 42.6 64. 6 =
22 | BRiEaR BT EEREBEARFER L L F A 22.8 40.9 63. 7 =
23 | meH BT EEREEAFER R B F A 23.6 37.5 61.1 =
24 | EXH AR ARFER RL A B F A 19.6 41.5 61. 1 =
25 | HRRE BT EERYBEAFER R BT HOA 23.6 36. 0 59. 6 =
26 | W E BT EER Y EAFER L ] L F A 21.2 36. 1 57.3 =
27 | &AM BT EERYEAFER BL R BT HA 20. 0 36.5 56. 5 &
1| AT B TEERYEARFR #ERIt5%E | 33.6 51.4 85. 0 =
2 | AW BT EER Y EARAFER AR HHE | 33.6 49.9 83.5 =
3 % BT EEREEAFR AR EHE | 32.4 50. 0 82. 4 =
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BEEA BEULTEERYEAFR J# | 29.2 50. 3 79.5 =
FRE B TEERYEAFR ¥ | 27.6 51.6 79. 2 =
JEE AR B TEERYEAFR ¥ | 32.8 45. 8 78.6 =
'R R Bl EER Y EAFER #ERITSHE | 29.6 48.8 78.4 =
AR % BT EER Y BEARAFER [3# | 28.4 49.8 78. 2 =
W Bl EERYBEAFER AR HHE | 30.0 47. 4 77.4 =
T FIR N A F 3% | 28.4 47.3 75.7 =
AR FEHRL A F R 13 | 25.6 48.8 74. 4 P
FHE LA F R ¥ | 31.6 42.6 74. 2 =
BN BT EER Y BEAFER 13 | 26.0 46. 7 72.7 =
% BEUFEERYEAFR ]3# | 28.4 44.0 72. 4 =
WEZE EULTEERYEAFR 3% | 22.4 49.8 72.2 =
F % Bl EERYBEAFER 13 | 30.8 40. 8 71.6 =
17 78 Al BT EER Y BEAFER 3¢ | 23.2 47.2 70. 4 =
Ot BT EEREEAFR AR HHE | 25.2 44.8 70. 0 =
Sl BEULTEERYEAFR ]3# | 25.2 44.5 69. 7 =
X A LA F R AR HHE | 22.8 45.0 67.8 =
A FIR A A F 3% | 18.8 46. 7 65.5 =
I 397 2% F IR A F J# | 20.8 42.8 63. 6 =
AER LA FR 3% | 14.4 46. 2 60. 6 =
4 Bl EERYBEAFER [# | 16.4 42.5 58.9 =
FE 4 BT EER Y BEAFER [3# | 14.4 43.6 58. 0 =
HTE Gl EER Y BEAFER [# | 16.4 39. 1 55.5 =
TR A BT EEREBEAFER [# | 14 40.9 54.9 =
TEA BT EER Y BEARFER i 6.0 39.6 45.6 %
T 34 B TEERYEAFR #ERIT 5 FliE 9.6 36. 0 45. 6 &
AR HE LA F R Mk x T GHE | 32.8 49.6 82. 4 =
2 | EHRE LA F R MR LT 5 %3 | 30.8 48.6 79. 4 =
3| EEE AL A F R MBI S HE | 29.2 49. 0 78.2 =
4 | mAEEK BT EER Y BEAFER Mkt GHE | 31.2 46.8 78.0 =
5 | BT BT EERYBEAFER MBI S HE | 30.4 47.2 77.6 =
6 | FRE BT EER Y EAFER MR BT G HE | 33.2 41.6 74. 8 =
7| EAR BT EEREYBEAFR MBI S HE | 23.2 46. 7 69. 9 =
8 | ZEK BT EERYBEARAFER MR T HHE [ 26.4 42.2 68. 6 =
9 | HERME G EER Y BEAFER MR LT 5 H3E | 23.2 45.2 68. 4 =




= sty
P

rE| g R LS T U I T T
10 | TR BT EERYBEAFER MR BT S HE | 20.0 48.2 68. 2 =
11| &R BT EER Y BEAFER MBI S HE | 25.2 42.8 68. 0 =
12 | EEIR B EEREBEAFER MR BT G HE | 25.2 42.5 67.7 =
13| &HE Bl EER Y EAFER MBI S HE | 23.6 43.6 67.2 =
14 | gk BT EER Y BEARAFER MMk IZ T HHE | 20.0 45.8 65. 8 =
15 | XER Bl EERYBEAFER M IZT GHE | 21.6 44. 2 65. 8 =
16 | FRA&HE BT EER Y BEAFER MBI G HE | 22.8 39.1 61.9 =
17 | &5 BT EER Y BEAFER MLbk kit GHE | 23.2 37.7 60.9 =
18 | FR% BT EER Y BEAFER MBI S HE | 21.6 39. 2 60. 8 =
19 | Bl BEULTEERYEAFR MR LT 5% | 21.2 38.8 60. 0 =
20 | FE R BT EERYBEAFER M IZ T GHE | 19.6 39.4 59.0 =
21 | iR AR EARFER MLt 5% | 19.2 38.5 57.7 =
22 | EHHE Bl EERYBEAFER WALt 5% | 17.6 39.6 57.2 =
23 | ERARa BT EER Y BEAFER MAARE T S HE | 19.6 37.1 56. 7 =
24 | A% BT EEREEAFR MLt 5% | 15.2 41.2 56. 4 =
25 | R BT EER Y EAFR MR LT 5% | 16.0 39. 2 55. 2 =
26 | BER BT EEREBEAFR Mk ix T GHE | 13.6 41.0 54. 6 =
27 | B BT EER Y BEAFER MAARE T S HE | 14.0 38.6 52.6 =
28 | St BT EER Y BEAFER MM IZIT GHE | 14.0 37.7 51.7 =
29 | BFE BT EER Y BEAFER MBI G HE | 13.2 38.3 51.5 =
30 | FEA Bl EERYBEAFER MR LT 5% | 13.2 37.9 51.1 =
31 | FfEAk BT EER Y BEAFER MAARE T G HE | 13.2 37.9 51.1 =
32 | BRfEAR Gl EER Y BEAFER MBI S HE | 13.6 35.0 48. 6 &
33 | EW BT EEREBEAFER MARZIT 5% | 12.0 36. 2 48. 2 &
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1| EHEA LT THRIRE B A F R TEHMF LA [ 30.0 55. 0 85.0 =
2 | #41E LT IR A F A& TEMFEEA | 31.2 53.4 84.6 =
3| Z%&H LITH THIRE B AR FK TEAMREHA | 30.0 54.5 84.5 =
4 | RER LW IR A F R THEMREHEA | 28.8 55. 1 83.9 =
5 | x4T4 LITH THIRE B AR FK TEAMREHA | 30.0 51.7 81.7 =
6 | ¥R LT THIR B AR FK TEMRERA | 27.2 54.5 81.7 =
T BRHE LITH THIRE AR FR TTEMRERA | 27.2 53. 8 81.0 =
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8 | #R K LT THIRE B AR FK TEAMREHA | 25.6 54. 4 80. 0 =
9 | % LM THIR B AR FK ITEMMEHA | 28.8 49.8 78.6 =
10 | 4k LT THIRE AR FK TEMREHA | 26.8 51.7 78.5 =
11 | M LITH THIRE B AR FK ITEAMREHA | 26.8 49.6 76. 4 =
12 | £HA LM THIRE B AR FK TEMRERA | 25.2 51.1 76. 3 =
13 | whkE LM THIR B AR FK TENNEHA | 25.6 50. 5 76. 1 =
14 | FuiEsn LT THRIRE B A F K ENFERA [ 22.0 53.5 75.5 =
15 | MEZF LITH THIRE B A FK TEMNETA [ 26.4 49. 1 75.5 =
16 | #A=EIL LITH THIRE B AR FR TEMRERA | 22.8 52.3 75. 1 =
17 | KEE LT IR A F A& TENFEREA | 26.4 47.9 74.3 =
18 | XEE LT THIRE B AR FK TEMRERA | 25.2 47.3 72.5 =
19 | EHR LITH THIRE B AR FK TEMNEHA [ 20.4 52.0 72.4 =
20 | EEH LITH THIRE B AR FK TTEMRERA | 21.2 50. 8 72.0 =
21 | RrefE LW IR A F & THEMREEA | 19.6 52.2 71.8 =
22 | FEBREF LM THIRE B AR FK TEMRERA | 22.8 49. 0 71.8 =
23 | KRB LM THIRE B A FK TEMRERA | 22.8 48.5 71.3 =
24 | BHE LT THIRE B AR FR TEMRERA | 25.2 44.5 69. 7 =
25 | EHEE LT THIRE B AR FK TEMRERA | 21.2 48. 4 69. 6 =
26| =% LM THIR B AR FK TTEMRNERA | 24.0 45.0 69. 0 =
27 | R % LT THIRE AR FK TEMNERA [ 22.4 46. 4 68. 8 =
28 | BRFEF LITH THIRE B AR FK TEMNEHA | 19.6 45.5 65. 1 =
29 | &#FXE LM THIRE AR FK TEMREHA | 18.8 46. 1 64. 9 =
30 | B LM THIRE B AR FK TEMREHA | 16.8 46. 4 63. 2 =
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1| HEK LW % — Bk H AR FR L] L F A 18.0 48.0 66.0 =
2 | BAE LW % — Bk H AR FR KL ELFHOA 19. 2 46. 2 65. 4 =
3| BEXAE LT % — Bk H A FR L ] L F A 23.2 41.8 65.0 =
4 | IBRE LW % — Bk A FR KL F A 22.8 42.1 64. 9 =
5 | ¥EA LW & — Bk H A FR L ] L F A 17.6 45. 2 62.8 =
6 | EX# LW % — Bk A FR R BT B 17.2 43.3 60. 5 =
7| EfRE LW % — Bk H A FR KL ELFHOA 18.8 40. 4 59. 2 =
8 | JEREE LW % — Bk AR FR R BT HA 10. 4 48.5 58.9 =
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9 | KR LW % — Bk A FR KL ELFHOA 14. 8 43.3 58. 1 =
10 | BRMEIT LW % — Bk AR FR KL ELFHOA 10. 8 47.3 58. 1 =
11 | BRE LT —BRHEAFK R ELFHOA 15.6 42. 4 58.0 =
12 | BREA LW % — Bk AR FR KL B F A 17.6 40. 1 57.17 =
13| FRE LW % — b AR FR KL B FHA 13.6 43.9 57.5 =
14 | Zfeit LT % — Bk H AR FR RL B F A 9.6 46.0 55. 6 =
15 | T34 LW % — Bk H AR FR KL B F A 12. 4 43. 1 55.5 =
16 | R#EE LW % — Bk A FR L] L F A 11.6 42.6 54.2 =
17| &x% LW F — Bk H AR FR KL F A 10.8 43.1 53.9 =
18 | EAEH I & — R EAFR R ELFHOA 9.6 43.7 53.3 =
19 | Rz LW % — Bk AR FR KL B F A 8.8 43.8 52.6 =
20 | EIXH LW % — B A FR L ] L F A 10. 4 41.9 52.3 =
21 | R LW % — Bk A FR KL B F A 8.8 42. 4 51.2 =
22 | EHEX LW & — Bk H A FR R BT HOA 8.4 42.6 51.0 =
23 | 2F A& LW % — b A FR R BT HOA 12.0 38.6 50. 6 =
24 | FXRE LW % — Bk AR FR RL B F A 4.0 46. 2 50. 2 =
25 | FEAR LT % — Bk AR FR KL B F A 4.8 45. 2 50. 0 =
26 | REZR LTH IR HEAFK KL ELFHOA 7.2 42.1 49.3 &
271 | EFT LT % — Bk AR FR R BT B 9.2 40. 1 49.3 &
28 | EEfE LW % — kA FR KL ELFHOA 10.8 38.3 49.1 &
29 | FRJEFu LW % — Bk AR FR KL B F A 4.4 43.3 47.7 &
30 | ZEAK LTHE IR HEAFK KL ELFHOA 4.8 41.2 46. 0 &
31 | %F% LW % — Bk AR FR RL B F A 2.8 40. 0 42.8 &
32| EEM LT IR HEAFK R L F A 7.6 Bt 7.6 &
1| BT LTH B HAFK TTEMRERA | 24.0 52.7 76. 7 =
2 | WEE LW & — Bk HAFR TEMRERA | 25.2 51.5 76.7 =
3| YR LT B HAFK TTEMRERA | 22.0 49.6 71.6 =
4 | FEA T & — R EARFR THEMREEA | 20.0 50. 3 70. 3 =
5 | FRE LT —BRHAFK TEMREHA | 19.6 49. 4 69. 0 =
6 R LW & — B HAFR TEMNEHRA [ 18.4 48. 2 66. 6 =
T RES LTHE B HEAFK TTEMRERA | 21.2 45.0 66. 2 =
8 | EER LW & - FEAFR TEMNEHA [ 18.4 47.5 65.9 =
9 | E#% LT B HEAFK TEMNEHA | 15.6 49.6 65. 2 =
10 | &HEA LT IR HEAFK TEAMNEHA | 15.6 49. 4 65. 0 =
11| =#E LTH B HEAFK TEMNEHA [ 20.4 44.6 65.0 =
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12 | #AHk%% LT IR HAFK TEMRERA | 17.2 46. 0 63. 2 =
13| FRR LTH B HEAFK TEMNEHA [ 18.4 44.6 63.0 =
14 | #HEAE LT —BRHEAFK TEMNEHA | 16.0 46.8 62. 8 =
15| ZE® LTHE B HE A FK TEMNEHA [ 16.4 46. 1 62. 5 =
16 | KHA LTH IR HEAFK TEMREHA | 15.2 47.2 62. 4 =
17 | BREE LT % — Bk H AR FR TEMNEHA | 19.6 42.5 62. 1 =
18 | &€= LT IR HAFK TEMRERA | 15.2 46.6 61.8 =
19 | #aE LW & — Rk HAFR TEAREHA | 18.8 42. 4 61.2 =
20 | RERA LTH B HEAFK TEMNERA | 17.6 43. 4 61.0 =
21 | AR LW & — B HAFR TEMRERA | 23.2 37.7 60.9 =
22 | BRttEE LT IR HEAFR TEMREHA | 15.2 45.2 60. 4 =
23 | W& LW & — Bk HAFR TEMREHA | 16.8 43.3 60. 1 =
24 | FRHLME LT —BRHEAFK TEMNEHA [ 18.4 41.6 60.0 =
25 | FHEH LW & — Rk HAFR TEAMREHA | 13.6 46. 4 60.0 =
26 | EHE LTHE B HEAFK TEMRERA | 14.0 45.7 59. 7 =
27 | MR LW & — B HAFR TTEMNEHEA [ 16.4 43.2 59. 6 =
28 | i LTH IR HEAFK TEMNEHA | 17.6 41.8 59. 4 =
29 | FEqiE LTH IR HEAFK ITEAMREHA | 18.8 40. 2 59.0 =
30 | ZH LTH B HEAFK TTEMNEHEA [ 12.4 46.3 58.7 =
31 | EEE LT —BRHEAFK TEMREREA | 14.0 44.6 58. 6 =
32| rRF LTHE B HE A FK TEMNEHA | 16.0 42.6 58. 6 =
33 | XA#EE LTHE IR HEAFK TEMFERA [ 20.8 37.7 58.5 =
34 | W LW % — Bk AR FR TEAMMEHA | 10.8 47.5 58.3 =
35 | EfEM LT IR HEAFK TEMRERA | 15.2 43.1 58.3 =
36 | FHEx LW % — Bk H AR FR TTEMMEHA | 18.8 38.8 57.6 =
3 | EMEE LTH B HAFK TEMNETA [ 12.4 45.0 57.4 =
B | F LT % — Bk H A FR TTEMMNEHA | 13.6 43.8 57.4 =
39 | K&k LT B HAFK TEAMREHA | 15.6 41.8 57.4 =
40 | =R LW & — Bk HAFR TEMRERA | 17.2 40. 1 57.3 =
41 | ARG LT —BRHAFK TEMNEHA [ 18.4 38.4 56. 8 =
42 | REE LW & — B HAFR TEMRERA | 12.8 43.6 56. 4 =
43 | REFH LTHE B HEAFK TEMRERA | 12.8 43. 4 56. 2 =
44 | FEH LW & - FEAFR TEMREHA | 15.6 40. 4 56. 0 =
45 | % LT B HEAFK TENFERA | 16.8 39.0 55. 8 =
46 | BRA LT IR HEAFK TTEMNETEA [ 14.4 41.0 55. 4 =
4T | =R LTH B HEAFK TTEMNERA [ 12.4 43.0 55. 4 =
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48 | BAEF LT IR HAFK TEMNEHA [ 16.4 38.9 55.3 =
49 | Fled LTH B HEAFK TTEMNEHA [ 12.4 42.7 55. 1 =
50 | A= LT —BRHEAFK TEMNEHA | 17.6 37.2 54. 8 =
51 | FiEX LTHE B HE A FK TTEMNEHA [ 14.4 40.3 54. 17 =
52 | MM LTH IR HEAFK TEAMREHA | 16.0 38.5 54.5 =
53 | RAR LT % — Bk H AR FR TEMNEHA | 14.0 40. 4 54. 4 =
54 | BRE LT IR HAFK TEMRERA | 13.6 40. 8 54. 4 =
55 | &ALk LW & — Rk HAFR TEMRNERA | 13.2 40.9 54. 1 =
56 | HRAEAl LTH B HEAFK TEMNEHA | 14.8 39. 2 54.0 =
57 | Rax LW & — B HAFR TEAMRERA | 11.6 42. 2 53.8 =
58 | EHE LT IR HEAFR TEMNEHA [ 10.4 43.1 53.5 =
59 | ®#F LW & — Bk HAFR TEMREHA | 13.6 39.6 53.2 =
60 | 4R LT —BRHEAFK TEAMREHA | 10.0 42. 2 52. 2 =
61 | X E LW & — Rk HAFR TEANREHA | 11.6 40.3 51.9 =
62 | iR LTHE B HEAFK TEMRERA | 14.8 37.0 51.8 =
63 | KHEH LW & — B HAFR TEMNERA [ 14.4 37.3 51.7 =
64 | XEH LTH IR HEAFK TEMRERA | 14.8 36. 7 51.5 =
65 | XK LTH IR HEAFK TEMRERA | 12.0 39.1 51.1 =
66 | A HF LTH B HEAFK TTEMNEHEA [ 12.4 38.4 50. 8 =
67 | E MmN LT —BRHEAFK B 4 A 9.2 41. 2 50. 4 =
68 | ERER LTHE B HE A FK TEMRERA | 12.0 38.2 50. 2 =
69 | XAt LTHE IR HEAFK B 4 A 9.2 37.8 47.0 &
0| BEE LW % — Bk AR FR B % A 8.0 37.4 45. 4 &
1| FTAK LT IR HEAFK B 4 A HE 45. 4 45. 4 &
2| EW LT E IR FEAFK B AL 43 A hE 43.4 43. 4 %
73 | FAlRK I & — IR EAFR A& A HE 42.8 42.8 &
T4 | AhibAE LT IR HEARFK B AL 4 A hE 45.0 45.0 %
75 | U LT B HAFK B 4 A et 45. 2 45.2 %
76 | RIEA LW & — Bk HAFR B 4 A et 41.9 41.9 %
1 EF LW % — Bk A FR ABE S 2t 32.4 53.6 86. 0 =
2 | ERMH LTHE B HEAFK AHHEE 2 33.8 50. 9 84.7 =
3 i 8 LW % — Bk AR FR ABIE S 2t 33.2 51.5 84.7 =
4 | KEEB LW % — Bk AR FR AHES 2 32.6 49. 2 81.8 =
5 | FRE LT IR HEAFK AHHEE 2 32.8 48.8 81.6 =
6 | HR#EK LTH B HEAFK ABIE S 21t 26. 0 54.5 80. 5 =
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Ak LT IR HAFK AHHEE 2 30. 0 49.9 79.9 =
HIR LTH B HEAFK ABIE S 21t 32.0 47.9 79.9 =
RIRE LT —BRHEAFK AHHEE 2 31.6 47.8 79. 4 =
P HTE LTHE B HE A FK ABIE S 21t 29. 6 49.7 79.3 =
HiEE LTH IR HEAFK AHEE 2 30. 0 48.8 78. 8 =
8 3% ik LT % — Bk H AR FR ABIE S 21t 31.2 47.5 78.7 =
i #e LT IR HAFK AHHEE 2 30. 4 48.0 78.4 =
" EF LT R B FEAFK R#AES 21t 30. 4 45. 1 75.5 =
X 15 % LTH B HEAFK AHHEE 2 26. 4 48.6 75.0 =
FRAL LW % — Bk H A FR AHHEE 2 28.8 46.0 74.8 =
B LT IR HEAFR A#HHEE 2 26.8 46.8 73.6 =
BERE LW % — B A FR AHHEE 2 24.8 47.8 72.6 =
TERTE LT —BRHEAFK AHEE 2 24. 4 46. 4 70. 8 =
R AL LW & — Bk H A FR ABE L 21t 23.6 46. 2 69. 8 =
2SS LTHE B HEAFK AHHEE 2t 27.6 42.0 69. 6 =
3V LW % — Bk AR FR ABE S 21t 29. 4 40. 2 69. 6 =
W H& LTH IR HEAFK ABIE S 21t 28. 0 41.3 69. 3 =
B X LTH IR HEAFK AHHEE 2 23.2 45.6 68. 8 =
'/ LTH B HEAFK ABIE S 21t 23.6 45.0 68. 6 =
=R LT —BRHEAFK AHHEE 2 28.0 40. 0 68. 0 =
i # 7% LTHE B HE A FK ABIE S 21t 23.6 43.3 66. 9 =
BEEE LTHE IR HEAFK AHHEE 2 23.2 43.7 66.9 =
BLTE LTH B HEAFK R#ES 21t 22.8 44.0 66. 8 =
K LLE LT IR HEAFK AHHEE 2 25.2 41. 4 66. 6 =
4 cH LW % — Bk H AR FR AHEE 2 24. 4 41.5 65.9 =
= R LTH B HAFK AT E 2 22. 4 43.3 65. 7 =
GES LT % — Bk H A FR AHHEE 2 25.2 40. 1 65.3 =
%% LT B HAFK AHHEE 2t 24.8 40.3 65. 1 =
7 K LW % — Bk H A FR AHHEE 2 24.0 40. 2 64. 2 =
=B LT —BRHAFK AHEE 2 17.2 41.8 59. 0 =
[ E & LW % — Bk A FR ABE S 2t 10. 4 37.0 47. 4 %
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1 | AW & I 4 LT 3 2 AL FUHE 35. 2 48.5 83.7 =
2 | Ml L4 LI 6 2 AL FRHE 32.4 49.5 81.9 =
3 ZiE L4 )L & FUHF 31.2 49.7 80.9 =
4 | "®RE T4 LT 3 2 A FUHE 33.6 47.3 80. 9 =
5 | BtARE L4 )L & FUHE 31.8 48.7 80.5 =
6 | s T4 LT 3 2 AR FHHF 32.8 47.6 80. 4 =
7| RxH T4 LT 3 AR FHHE 31.8 48. 4 80. 2 =
8 | AL L4 )L & FRHE 31.8 48.0 79.8 =
9 ®AE L4 & FUHE 32.0 47.7 79.7 =
10 | KHMY N EY DI R FHHE 31.8 47.6 79.4 =
11| PRER T4 LT S AR FHHE 30. 8 48. 4 79. 2 =
12 | 4 i L4 )L & FHHE 31.6 47.6 79.2 =
13| FeE#M N EY DI R FRHE 30. 6 48.5 79.1 =
14 | KBeH I 4 LT S 2 AL FHHE 31.4 47.5 78.9 =
15 | Fwk T4 LT 38 AR FHHE 29. 2 49. 2 78. 4 =
16 | EiE4E RREYDIN A= FHHE 30.0 48. 4 78. 4 =
17| Ram L4 LT 36 AL FRHHE 30. 4 47.8 78. 2 =
18 | Zmm T4 LT 38 AL FHHE 27.8 49.7 77.5 =
19 | ME%E L4 LI 36 AL FUHE 30. 8 46. 5 77.3 =
20 | BKBRA I 4 LT S 2 AL FRHHE 31.6 45.6 77.2 =
21 | FWdr T4 LT 3 2 A FHHF 30. 4 46. 7 77.1 =
22 | EHERK L4 )L & FUHE 28.4 48.5 76.9 =
23 | AAF T4 LT 3 2 AR FUHE 30. 4 46. 3 76. 7 =
24 | Rw# L4 LI S AL FUHF 31.2 45.5 76.7 =
25 | gE=E R EY DI R FRHE 28.6 47.8 76. 4 =
26 | BRAUH N EY DI R FUHE 29.8 46. 5 76.3 =
27 | FR® L% )L & FHHE 29. 4 46.9 76.3 =
28 | EAEARK L4 & FRHHE 30. 8 45.3 76. 1 =
29 | EAUF L% )L & FRHE 28.6 47.5 76. 1 =
30 | BET N EY DI R FUHF 28.6 47.0 75.6 =
31 | KE® L% )L & FRHE 28.6 47.0 75. 6 =
32 | Raw RREYDIN A= FHHF 30. 8 44. 8 75.6 =
3B | EFA L% )L & FHHA 29.0 46.5 75.5 =
M| EmE 14 LT 36 AL FUHF 29. 6 45.7 75.3 =
35 | FRAUK RREYDIN A= FHHF 29.0 46. 3 75.3 =
36 | Hisd N EY DI R FRHHE 29. 6 45.5 75. 1 =
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JE & B T4 LT S AL FHHE 28.0 46.9 74.9 =
HEE L4 LI 6 2 AL FRHE 29.0 45.7 74.17 =
2w T4 LT 3 2 AL FHHE 26. 6 48. 1 74.7 =
Z & T4 LT 3 2 A FHHF 28.0 46.5 74.5 =
it B A T4 LT 38 2 AL FHHE 29. 0 45. 1 74.1 =
x| F 3k T4 LT 3 2 AR FHHF 27. 4 46. 4 73.8 =
MR B AR I 4 LT S AL FUHE 25.8 48.0 73.8 =
HWH L4 )L & FRHE 26.0 47.7 73.7 =
BEHE L4 & FRHHA 27.4 45.5 72.9 =
TEE N EY DI R FHHE 27.6 45. 1 72.7 =
e 2 HA L4 & FHHE 28.4 43.5 71.9 =
% E Ak L4 )L & FHHE 25.2 45. 1 70. 3 =
B E & N EY DI R FRHE 22.8 46. 6 69. 4 =

i LL T DA X 8 SRR R R 2L

wE | R kil
Fra| 4 R EAR Ll s | hSY5 % Mi?%
1 | EWH | Bl )RE X HA S AEIRL A FK FUHE 34.0 53.6 87.6 <
2 | ME# | HLTIRERASERLEARFR FUHE 32. 4 52.9 85.3 =
3| EAE |l IEX A SRR B A F R FUHE 33.0 51.8 84.8 =
4 | #EE | HLTIRERARERELEARFR FRHE 33. 4 51.2 84. 6 =
5 | REE |HLTIRERARERLEARFK FUHF 30.6 53.8 84. 4 =
6 | EBRA | BT IRER A SRR B A FR FUHE 32.8 51.0 83.8 =
7| FME |Gl TIRER A S ERL B AR FR FRHHE 32. 4 51.1 83.5 =
8 | MEERE |BhLTIREX A BB EAFR FHHE 31.2 52.3 83.5 =
9 | F&F |HLTIERAREREEAFR FHHE 33.0 49.5 82.5 =
10 | TR | Bl AR X 4R R AL R AR FHHF 32.6 49. 8 82.4 =
11 | A4 | L AR X ¥ 40 A R AL R AR FRHHA 31.0 51.4 82. 4 =
12 | Rugrg | Bl IAE X 40 B R AL R AR FHHA 30. 6 51.5 82.1 =
13| B# |l R4S KO R AR A F AR FHHE 33.0 48.9 81.9 =
14 | ERE (6L W IERX S ER LA FR FHHE 29. 0 51.7 80.7 =
15 | R4A& | L RAE K8 o B B A F AR FHHE 30. 4 50. 2 80. 6 =
16 | BEF & |6l IE X 4R B R L 3R F A FRHHE 32.0 48.6 80. 6 =
17 | AW | AL R4S I8 o R R AL AR F AR FHHE 31.4 49. 1 80. 5 =




s | R kil
4 R EAR Ll e | 2R 59544 Mi?%
g sz | Bl AR SR &R FR FUHE 29. 6 50.9 80. 5 =
ARG | B L RS X 4R AR B AR F AR FUHE 30. 4 50. 1 80.5 =
BRAEAT | L) 7 A2 IX #A 4 AR R L R F AR FRHHE 28. 4 52.0 80. 4 =
TRZEEE | ML IR X R 4R R R F AR FUHE 28.8 51.4 80. 2 =
Bkt | 6L R E X 9B B R F AR FRHHE 28.0 52.1 80. 1 =
LR | Bl i AR X4 4 A8 BR AL 3R AR FUHE 26.8 53. 2 80. 0 =
PR B | L 7 A2 X #A 4 AR BR L R AR FUHE 31.2 48.7 79.9 =
FHE | L IR X 4R A B AL R FE AR FHHA 29. 4 50. 2 79.6 =
Xz |l TR X 9 R R AR FUHE 28. 6 49.9 78.5 =
FRP | L T AR X HA 4 AB R AL R F AR FHHF 24. 4 54.0 78.4 =
MEBRE | 6L TR E X WA B R F AR FHHE 32.2 46. 1 78.3 =
)L | L IR X 4R A R L R FE AR FHHE 28. 4 49.9 78.3 =
A BF | 6L R X AR R F AR FUHF 30.0 48.0 78.0 =
TS | Bl IR X 4R A R L R F AR FHHA 28. 4 49. 4 77.8 =
Rk | Bl AR X WA A R R AR FUHE 29. 4 48.3 77.17 =
AN | L IR X 40 A B L 3 K AR FHHA 26. 6 50. 8 77. 4 =
A A |6 LR E X SRR R FAR FUHE 30. 4 46. 3 76. 7 =
38 |66 L IR 78 X 9 48 B R R AR FUHE 29. 2 47.5 76. 7 =
fARE |66l R 8 X 94 BB R AR FRHHE 27.6 48.6 76. 2 =
WA | Ml TR AR X A 4R AR R AL R F AR FRHHE 25. 2 51.0 76. 2 =
BRF | LW RER H R EIR LR AR FR FUHE 26.0 49.6 75. 6 =
PRI | L IR A X 4 AR BR L R AR FRHHE 28. 4 46. 8 75. 2 =
T E |6l AR X 3 40 8 B 3R FUHE 26. 0 48.7 74.17 =
HEM | 6L TIREX A SERY & ARFR FRHHE 31.8 42.8 74.6 =
BERK | Bl IR X 4R A R L R FE AR FHHA 26. 4 48.1 74.5 =
M| L AR X H 4R AR B L R AR FUHE 25.2 47.8 73.0 =
EEH | HLTIRERXASERYEAFR FHHA 28.0 44.9 72.9 =
BEAF | 6L TR E X SRR R FAR FRHHE 24. 2 48.7 72.9 =
BRI | L 7 AR X # 4 AR R AL K F AR FRHHF 27. 4 45.3 72.7 =
A& AR | B L MR X WA R R R F AR FUHF 24. 2 46. 3 70.5 =
FEBE | Bl IRE X AR AR FR FRHHA 21.6 46.9 68. 5 =
FIRZE | Ml I X 4R IR BARFR FHHE 21.0 47.3 68.3 =
RE®E | LTIRERXHSERYEARFR FUHE 19.0 44.3 63.3 =

BPT o F ML R R 22 AR




L S e A

T IR RTIN (s P T ﬁ%g%

HL S e A

el s PR S T U I L T ﬁ%ﬁg
1 | RRF B E R AR FAR KL B F A 29. 6 49. 0 78.6 =
2 | Hsld B E R AR FAR R ELFHOA 27.2 50.9 78.1 =
3| e B E R AR FAR RL B F A 25.2 52. 4 77.6 =
4 | fTiERE B E R AR FAR R BT HOA 28. 4 47.6 76. 0 =
5 | £FH B E R AR FAR RL B F A 27.2 47.5 74.17 =
6 | FEH B E R AR FAR RL L F A 26. 0 48.5 74.5 =
7| EXR B E R AR FAR KL B F A 24.8 48. 2 73.0 =
8 | REK B SR AR FAR R ELFHOA 25.6 46.5 72.1 =
9 | A B E R AR FAR R BT HOA 26. 4 44.5 70.9 =
10 | wiER B E R AR FAR KL F A 18.8 51.0 69. 8 =
11| =fFEH B SR AR FAR RL ] B F A 27.2 42. 4 69. 6 =
12 | &R B E R AR FAR RL B F A 19.2 50. 1 69. 3 =
13 | Efhke B SR AR F AR L ] L F A 20. 4 48.9 69. 3 =
14 | =M% B E R AR FAR RL B F A 20.8 48. 1 68. 9 =
15 | #hEF B E R AR FAR L ] L F A 20.8 47.5 68.3 =
16 | £z B E R AR FAR KL F A 20. 4 45. 1 65. 5 =
17 | & B SR AR F AR KL ELFHOA 19.6 43.5 63. 1 =
18 | Mk B E R AR FAR KL B F A 20. 8 41.8 62. 6 =
19 | MEE B SR AR FAR R ELFHOA 17.2 44. 2 61.4 =
20 | 1THEE B E R AR FAR KL ELFHOA 15. 2 45. 2 60. 4 =
21 | 2R B E R AR FAR R BT HOA 15. 2 44.6 59.8 =
22 | x|k #E BT o S BR AV A F AR RL B F A 13.6 45. 1 58. 7 =
23 | #=ALH B E R AR FAR R BT HA 13.2 43.8 57.0 =
24 | BEF AR B E R A FAR RL B F A 14.0 40.9 54.9 =
25 | FE R B E R AR FAR KL F A 12.0 41.3 53.3 =

LITH R THR

El S e A

el s PR S T U I T ﬁ%gc%
1| BE®E LT EEHKIFR Lo — A | 36.8 52.6 89. 4 =
2 Wik TITTEREIFR Mo — A | 38.4 49.5 87.9 =
3| BEA TITERHKIFR ML — A | 39.2 48.5 87.7 =
4 | RAZE TITEEHKIFER M — A [ 38.4 48.5 86.9 =
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R

= sty
P

Jra| 4 R EAR Ll e | 2R 59544 wi?%
5 | EHE LT EEHKIFR Ml — A | 39.2 46. 4 85. 6 =
6 | ZkfF TITEEHKIFER Lo — A | 37.6 48.0 85. 6 =
7| A TITEEHKIFR Lo — A | 38.4 46.8 85. 2 =
8 | A& TITEEHKIFR ML — A | 39.2 45.8 85.0 =
9 | HER® TITERKIFER Lo — A | 36.4 48.5 84.9 =
10 | BRARM TITEETEIFR Ml — A | 38.4 46.3 84.7 =
11 | Kk LT EEHKIFR Lo — A | 38.4 46. 2 84.6 =
12 | #XR TITTERRIFR Mo — A | 37.6 46. 6 84.2 =
13| #RK TITEEHKIFR ML — A [ 38.0 46. 1 84.1 =
14 | keW TITEEKIFR Mo — A | 36.0 48.0 84.0 =
15| B8&F% TIITERHKIFR Lo — A | 36.8 47.2 84. 0 =
16 | B TITEEHKIFR Ml — A | 37.2 46. 7 83.9 =
17 | 7508 TITERHKIFR Lo — A | 38.4 45. 4 83.8 =
18 | &R TITEEHKIFR L — LA | 37.6 46. 1 83.7 =
19 | #HERT TITERKIFER Lo — A | 35.2 48. 1 83.3 =
20 | EREE TIFEEHKIFER Lo — B A | 36.4 46.8 83.2 =
21 | MEXA TITEEHKIFER Lo — A | 37.2 45.6 82.8 =
22 | BfER TITERHKIFR L — A | 37.6 45.2 82.8 =
23 | WWHR#E TITEEHKIFER Lo — A | 37.6 44.9 82.5 =
24 | KRR TITEEHKIFER Ml — A | 34.8 47.6 82.4 =
25 | FaM TITERHKIFR ML — A | 37.2 45.1 82.3 =
26 | EAXR TITEEHKIFER Lo — A | 34.4 47.5 81.9 =
27 | ik TITEEHEIFR ML — A | 37.2 44. 4 81.6 =
28 | FEM TITEEHKIFR Ml — A | 32.8 48.6 81.4 =
29 | R TITTEREIFR Mo — A | 32.0 49. 2 81.2 =
30 | Pt TITEEHKIFR L — A [ 30.0 51.0 81.0 =
31 | RES TITERHKIFER Mo — A | 32.8 48. 1 80.9 =
32| FRE LT ERHKIFR Lo — A | 36.4 44.3 80. 7 =
33| wmE TITEEHKIFR Mo — A | 36.0 44.5 80.5 =
34 | BALE TITERHKIFR Lo — A | 35.2 45.2 80. 4 =
3B | AEXE LT EEHKIFR Lo — A | 32.4 48.0 80. 4 =
%6 | W& TITERHKIFER Lo — A | 37.2 43.1 80. 3 =
3 | mIkE TITEEHKIFER Ml — A [ 34.0 46. 0 80.0 =
38 | AAK TITEEHKIFR Lo — A | 36.8 43.1 79.9 =
39 | HEmEF TITEEHKIFER Lo — B A | 32.4 47. 4 79. 8 =
40 | B#EH TITEEHEIFR Lo — A | 37.2 42.5 79.7 =
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R

= sty
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41 | "HER LT EEHKIFR Lo — B A [ 30.4 47.8 78. 2 =
42 | AR TITEEHKIFER Mo — A | 32.8 44.5 77.3 =
43 | E#ER TITEEHKIFR L — s A [ 30.8 46. 4 77.2 =
44 | Es|xX TITEEHKIFR ML — A [ 32.0 45.0 77.0 =
45 | ERIE TITERKIFER Ml — B A | 32.4 44.3 76.7 =
46 | BRF TITEETEIFR ML — A | 352 41.4 76. 6 =
47 | BE% LT EEHKIFR Lo — A | 32.4 44. 2 76. 6 =
48 | FEXA TITTERRIFR Ml — A | 31.6 44.9 76.5 =
49 | BER TITEEHKIFR ML — A [ 26.4 50. 0 76. 4 =
50 | EER TITEEKIFR Ml — A | 31.2 45. 2 76. 4 =
51 | E#H TIITERHKIFR Lo — A | 32.4 43.9 76.3 =
52 | RAR% TITEEHKIFR Ml — A | 33.6 42.5 76. 1 =
53 | FA TITERHKIFR Ml — A [ 32.0 43.9 75.9 =
54 | HEEE TITEEHKIFR Ml — A | 31.6 44. 2 75. 8 =
55 | T#HA TITERKIFER Ml — A | 32.4 43.3 75.7 =
56 | MRt TIFEEHKIFER Ml — A [ 28.0 46.8 74.8 =
57 | #w M TITEEHKIFER Ml — A | 28.8 45.9 74. 17 =
58 | EH A TITERHKIFR Ml — A [ 32.0 42.7 74.17 =
59 | HRHLE% TITEEHKIFER Ml — A | 28.8 45.8 74.6 =
60 | X2 TITEEHKIFER Ml — A | 33.2 41.3 74.5 =
61 | HrlE TITERHKIFR ML — A | 33.6 40.5 74.1 =
62 | EiERE TITEEHKIFER Ml — A [ 29.2 44.9 74.1 =
63 | ZiEF TITEEHEIFR Ml — A | 27.2 46. 4 73.6 =
64 | #H1ELL TITEEHKIFR ML — A | 256 46.9 72.5 =
65 | #fFIE TITTEREIFR Ml — A | 31.2 40.9 72. 1 =
66 | 17HEHE TITEEHKIFR ML — A [ 29.6 42. 2 71.8 =
67 | MK TITERHKIFER Mo — A | 27.6 43. 4 71.0 =
68 | MARE LT ERHKIFR Ml — A | 24.8 46. 1 70.9 =
69 | MmAESE TITEEHKIFR Ml — A | 26.8 43.3 70. 1 =
70 | FKAUE TITERHKIFR ML — A [ 29.6 39. 8 69. 4 =
71| #EE4 LT EEHKIFR Mo — A | 24.8 44. 4 69. 2 =
72 | ERIEAR TITERHKIFER Lo — A | 24.4 44. 6 69.0 =
73| EEik TITEEHKIFER e — A | 26.8 41.6 68. 4 =
74| BT TITEEHKIFR ML — A | 252 43.0 68. 2 =
75 | AEH TITEEHKIFER Ml — A | 23.6 44.5 68. 1 =
76 | FELR TITEEHEIFR ML — A | 24.0 43.7 67.7 =
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Jra| 4 R EAR Ll e | 2R 59544 Mi?%
| HEEM LT EEHKIFR Ml — A | 22.8 44. 2 67. 0 =
78 | EREE TITEEHKIFER ML — A | 23.2 43.3 66. 5 =
79 | BIkE TITEEHKIFR Ml — A | 23.6 42.2 65. 8 =
80 | EEH TITEEHKIFR ML — A | 24.8 40.9 65. 7 =
81 | ZFul TITERKIFER Ml — A [ 22.0 41. 4 63. 4 =
82 | EHAL TITEETEIFR Ml — A | 21,2 42.1 63.3 =
83 | #MHA LT EEHKIFR ML — A | 22.4 39. 8 62. 2 =
84 | ERF TITTERRIFR Mo — A [ 20.4 41. 2 61.6 =
85 | FE¥F TITEEHKIFR Ml — A | 16.8 43.1 59.9 =
86 | MR TITEEKIFR M — A [ 16.4 40.3 56. 7 =




